PHYS 102:General PhysicsII  KOC UNIVERSITY Spring Semester 2016
College of Sciences
Section 4 Quiz 7 31 March 2016

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Nzme: Student I1D: Signature:

Using the Biot-Savart law find the magnetic field at point P due to the current loop
shown in the figure.
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PHYS 102:General PhysicsII  KOC UNIVERSITY Spring Semester 2016

College of Sciences

Section 2 Quiz 7 31 March 2016

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student ID: Signature:

Calculate the magnetic field at point P of the current-carrying wire segment shown in
the figure using the Biot-Savart law. The wire consists of two straight portions and a

circular arc of radius a, which subtends an angle 6.
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PHYS 102:General PhysicsII  KOC UNIVERSITY Spring Semester 2016

College of Sciences
Section 3 Quiz 7 31 March 2016

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student ID: Signature:

Consider a circular wire of loop of radius R located in the yz plane and carrying a steady
current [ as shown in the figure. Calculate the magnetic field at an axial point P ata
distance x from the center of the loop using the Biot-Savart law.
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Name: Student ID: ~ Signature:

Using the Bio-Savart law, find the magnetic field of a thin, infinitely long, straight
current-carrying wire.
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